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1. REEROLB
(1) BEUNE
OE=ESEay 1,250,000 250,000 0 1,500,000
OZB=E 20,000 20,000
EFHER 20,000 20,000
REINERET 20,000 1,250,000 250,000 0 1,520,000
(2) BEER
BxE 520,000 300,000 50,000 870,000
REZBE 5,000 5,000 20,000 30,000
JHFEmE 35,000 15,000 10,000 60,000
FIRIEAE 180,000 80,000 0 260,000
IKIESEEE 40,000 40,000 0 80,000
BEERE 100,000 60,000 0 160,000
NS = 160,000 100,000 20,000 280,000
EIEE 500,000 500,000
RERBE 30,000 30,000
RRE 40,000 40,000
JHFEmE 70,000 70,000
EIRIEAE 160,000 160,000
IKIESEEE 140,000 140,000
BEERE 60,000 60,000
REERT 500,000 520,000 300,000 50,000 1,370,000
M8 2 35 SR 2 B H BRI RIS AR A 480,000 730,000 A 50,000 A 50,000 150,000
EARBEHMMERSE 0 0 0 0 0
Y RIS 0 0 0 0 0
BB S FHMiE S E 0 0 0 0 0
Bl Eae 0 0 0 0 0
LA R AR A 480,000 730,000 /A 50,000 A 50,000 150,000
2. BEIMERDLD
(1) B
BEIE BEESeilis 0 0 0 0 0
XA 0 0 0 0 0
REIMNESET 0 0 0 0 0
(2) BeNaEl
AT BEEAD 0 0 0 0 0
B &EFTANE 0 0 0 0 0
MHER 0 0 0 0 0
BN, FEBRD KUSBEN 0 0 0 0 0
Ry Bt 0 0 0 0 0
LERR B IMEIRER 0 0 0 0 0
LA — AR IELRBAEE IR EE A 480,000 730,000 A 50,000 A 50,000 150,000
—ARIEREAEE R E RS 0 0 0 0 0
—ARIEBREAFEE AR R S A 480,000 730,000 A 50,000 A 50,000 150,000
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SEHIEE 0 0 0 0 0
—ARIEBRBAEE AN\ DIREEEA 0 0 0 0 0
LHATETE IEDRBA SRS 0 0 0 0 0
IEEIEREERE%RS 0 0 0 0 0
18T IEREAEE HRR &= 0 0 0 0 0
M IEBREAERARDRS A 480,000 730,000 /A 50,000 A 50,000 150,000




